odal verbs
ble IJ1aroJibi)



MopaanbHble rnarosfbl — 3TO Fnaron.bl,
KOTOpble He BblpaXXaloT AeUCTBUA
USIN COCTOSHUA, @ YCTaHaBNUBaIOT
OTHOLUEeHMe MexAay nognexawum u
AeucTBMeM Ui COCTOSHUEM,
BblpaXeHHbIM UH(PUHUTUBOM
Apyroro rrnarona.



OcobeHHOCTU MOaarnbHbIX rNarosios
B aHIMUUCKOM A3blKe

OcHoBHOM rnaros nocne moaanbHOro nuileTcsa 6e3 YyacTuubl

She
He nmeloT okoH4YaHusA B TpeTbeM nuue, eAUHCTBEHHOM 4YuUcChe
HacTosILero BpemMeHu ( 3KBMBaANeHTOB MoAanbHbIX rnarosos: to
have to, to be to, to be obliged to).

She dance.

She wake up early.



AOAAJIbHbLIX IT1aroJsyioB
IMCKOM A3bIKEe

3. BonpocutenbHasa u oTpuLaTeE
BCroOMoOratenbHbIX rfarosioB.

| help

4. He Bce moaanbHbIe T
BPEeMEH, U Npu Ux Bbl|
5. He umeroT Henunukr

repyHgus).



MoaanbHbIle rnarosnbi MO)

1.

2, — could, to be ak
have to, to be to.

'I = iy -
3- 'HaJIbHbIE IJIaroJjibl, BE
— shal

OJHAINUE (PYHKIIUIO



I can not
SWI1Mm.

Can you
swim?



NepeBoA: Mory, yme
3HavyeHue: dbunsnyeckas

coBepLuaTb AEUCTBUE.
JKBU ‘ .
could will be able to

BeXXJIMBasl Ipock0a (He Moryiv Obl



\% P

DaspeLunTe

npocb®a, BO3MOXHOCTb 1IN NPeanonoXeHune,
aeT dakTl 330BYH0 BO3MOXHOCTb

MBaneHTbl: to be allo to be (un)likely to

will be allowed to



Mus

s 6XO,EI,I/IMtCTb, 00s3aHHOCTb, HACTOATENbHbIN

BaneHTbl: to be ."- v 0 be prohibited to, not to be allowed to

will have to




3Ha4YeHue: Bbipa)xaeT Mopa
HaCcTodATernbHbIN COBET
dKkBuBaneHTbI: should

Ought to

Should

Ought

lNepeBoAa: oorkeH, cnegyer

rt,Qu?l OOJT, XXenaTtenbHOCTb,

ST m— %



NepeBoa: JormkeH, obsa3aH
3HayeHue:

lNMepeBoA: BbIHYXOEH, 0bs13aH
3HayeHue: t %










Exercise 1

Translate the sentences; explain the usage of the modal verbs:
1. The green wire should be connected to terminal 4.
2. You mustn’t turn the machine when the red warning light 1s on.
3. This lever can be up or down.
4. We can recycle old products to make new ones.
5. The red switch has to be on.
6. A rheostat 1s a resistor whose resistance value may be varied.
7. That morning he had to leave his car at home.
8. You can’t ride a motorbike with no helmet.




Exercise 2

Put the verbs into Past Simple. Use the modal verbs and their
equivalents:

1. He must work hard to finish his experiment.

2. I can devote myself to scientific work.

3. You may repeat this experiment.

4. He must 1llustrate this law by several experiments.
5. She can study automation 1n the college.

6. They may carry out these experiments at the laboratory.




Exercise 3

Put the verbs can, may, must.
1. What we see on this map?
____you speak Spanish? — No, unfortunately I  not.
At what time you come to college?
I come 1n?
You not smoke here.
take your book? — I am afraid not: I need it.
I have very little time: I go0.
They not go to the cinema today because they are busy.
You read this text: it 1s easy enough.

2.
3.

4.
} 5.
il 6.
"7
B
9.




